IMAGE LENA

start time: 200
stop time: 200

3 spin sum

1/1
1/1

1/27 19:56:52

1/27 20:02:57

H
270.0 ‘
180.0— I' —
I'
F
§9o.0— r q -
o
f
= %q
0.0— illl'l H—
I : 7125:?\
¥
-90.0 II.III ‘
—48.0 0.0 48.0 —48.0
degrees

Re =

Lshell
mlt =
mlat =

2.7612 => 2.6180
3.832

= 4.384 —>
3.2 —> 3.3hr

20.869 —> 22.069°

inviat = 61.470 —> 59.282°

All Masses

0.0
degrees

:

'

-

— 0.5
o
&

N — 0.0
2
c
3
o

© ——0.5
)
o

I1.0
-1.5
[ ]

no counts

- O

no data

Version 3.0.0
Mar— 6-2005
21:24:34

48.0

\
—48.0 0.0

degrees

48.0



